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Example

* Consider the following Grammar

. E->E+T
2. E—-T

3. TH>T*F
4. T—>F

5. F—(E)
6. F—1d

* [s there left recursion 1n this grammar?



Example

« Grammar after removing left recursion

1. E-—-TX
2. X—-+TX|¢
3. T—->FY
4. Y — *FY|¢
5. F—(E)|ud
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T(E) = FIRST(T) = FIRST(F) = {(, id}
T(T) = {(, id}

T(F) = {(, id}

T(X) = {+, &}

T(Y) =%, ¢

TCO =16

T (id) = {id}

T(H) =17

T()=15

T())=0;




Follow Set
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LOW(E) = {8, )}
LOW(X) = FOLLOW(E) = {8, )}

LOW(T) = (FIRST(X) — £) U FOLLOW(X)

,)> T

. FOLLOW(Y) = FOLLOW(T) = {8, ), +1
. FOLLOW(F) = (FIRST(Y) — £) U FOLLOW(Y)
={$,), +, *}




Parse Table

X X —>+TX X —>¢g X-—>¢g
T T>FY T—>FY
Y Y- >¢ Y —> *FT Y ->¢ Y >¢
F F—>id F—> (E)




Example 2

Grammar: First Set
First(S) = {b, d, € }

1 S—Ag FirsttA)=1{b,d, ¢}
First(B) = {b, ¢ }

2. A—-BD

e A First(D) = {d, & ! Follow Set

. b= al|b|d]|$

4. B—¢ Follow Set S l1l111

5. D—d Follow(S) = {$} Al21212

6 D— ¢ Follow(A) = {a} Blala 4
Follow(B) = {d, a}
Follow(D) = {a} ik .



